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TEST YOUR VOCABULARY

Write matching English words/ phrases. ’\._.)
I (v) dam bao, chiac chin 8. (v/n) do luong
2. (adj) to mo, hiéu ky 9. (v) dam sdm vao
9 (n) thiéu sb 10. (v) to chirc
4. (n) tinh sic toc 11. (n) bo suru tap
5 (n) ton giao 12. (v/n) pho bay, trung bay
6. (v) dién ra 13. (n) truyén théng
7. (n) mét mén do ndi that 14, (n) cong dong
GRAMMAR TEST

1. Combine these pairs of sentences using "so.....that", “such...that”.

I. Those lessons are very difficult. He can't understand them.

2. She was very busy. She couldn't do the housework.

3. The climate was very bad. All the plants couldn't grow well.

4. I'm very tired. I couldn't keep my eyes open.

5. That boy is very lazy. He never does his homework.

2. Choose either "so" or "such" to fill each space in these sentences.

1. [ was happy to see my aunt yesterday. | haven't seen her for nearly two years.
2. Greg plays tennis well! I played him today and lost 6-0, 6-1. It was embarrassing!
3. Gregis a good tennis player. He should try to turn professional.

4. Look at those people vandalising the flowers. people make me really angry.

5. It was cold yesterday that the TV was warning people not to go out unless it
was really necessary!

3. Mark the letter A, B, C or D to indicate the sentence which is closest in meaning to
the given one.
1. We couldn’t go out because the weather was so bad.

A. It was so bad a weather that we couldn’t go out.
B. It was such a bad weather that we couldn’t go out.
C. It was so bad weather that we couldn’t go out.

D. It was such bad weather that we couldn’t go out.
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2. She was so busy that she couldn’t answer the phone.
A. She was very busy that she couldn’t answer the phone.
B. She was too busy to answer the phone.
C. She was too busy not to answer the phone.
D. She was very busy so that she couldn’t answer the phone

3. The coffee was too hot for me to drink.

A. The coffee is so hot that | can’t drink it. B. The coffee is so hot that | can’t drink.

C. The coffee was so hot that I couldn’t drink it. D. The coffee was so hot that [ could drink it.
4. Tim is too young to drive a car.

A. Tim is not old enough to drive a car. B. Tim is not young enough to drive a car.

C. Tim is old enough to drive a car. D. Tim is so old that he can drive a car.

5. It was such a boring speech that we began to yawn.
A. The speech was very boring that we began to yawn.
B. It was so a boring speech that we began to yawn.
C. The speech was too boring that we began to yawn.
D. The speech was so boring that we began to yawn.
E.
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